=

|2 LED, SCiE, Ht=x| YabEH| 7|ssieol L=t
|E0t Mu|AZ M2 2= 7|1H0] &7 flsi =

0
7




CONTENTS

s ELS SIS oo 05
Linear Motor Stage
ELS 168 07 | ELS200 09 | ELS250 1l ELS 300 13
e
’__,‘—*'
s ECRSEHES i 15
Ball Screw Type Clean Robot
ECR 065 17 ECR 090 23 ECR120 29 ECR160 35
s ESRS@M@S oo 41
Ball Screw Type Robot
ESRO70 ESR 090 49 ESR120 55 ESR160 6l
» Series Combination oo 67
ELS Series ECR, ESR Series Module Bracket 70

D>

03 www.elpatec.com



ELPATEC

- VS Series o 71 - MSSeries . 73
Vertical Z-AXIS Miniature X-Y Stage
VS 71 MS 73
- ETS Series oo 75 - EPCSSeries ..o - 77
Desktop Stage Cross-Roller Guide X-Y Stage
ETS 75 EPCS 77

- DWR Series oo, - 79 - ESASeries . 83
Wafer Transfer Robot Scara Robot
DWR 79 ESA 83

- UVW Series oo 87 - PrecisionStage ... . 89
Alignment Stage X-Y-Z Stage
UVW 87 EGS Series 89 | EHS Series 90

PRODUCT T AR --oovveeoemeeoee 91
¢ OFFIAFO| ZROIAFEE oo 93

04



|| ELPATEC LINEAR STAGE O em Ay B : Black
W : White
B Base Width (mm) 168 Encoder ArQE A : Analog
200 B : Resolution 5um
250 C : Resolution 1um
300 D : Resolution 0.5um
E : Resolution 0.1um

a 0|4 Table 4=2F (Slider) 1 n Motor Maker

2
3

o 2e=3 $2400 : 2400 mm 1 Motor &

M ZOo| L2400 : 2400 mm

05 www.elpatec.com



ELPATEC

M ELS Series

SENSOR DOG
SIS0l Tz 7%\

PHOTO SENSOR sl . BASE

ELS
Series

- 2|H[0|HEtY
LM Guide AHE

Croret
oj=ZalA ol

LM GUIDE & BLOCK TOP COVER
Mag 2lEHold By Mg S TF I MY 2

é / 1YY LR0iE U4E A0 M

fjo
do
]
nN
M
4
iy

SIDE COVER

/7 =ZE2E 722 |XIES 80|

F2YA £ YKl 72X

\ ENCODER HEAD
BB Encoder AIS310) THY A

ELS Series _06

m
(2)
P
(72]
m
2
m
(7]

sa3s SA NOILLYNIGINOD sA1u3s Ys3

sauas g



28 LINEAR MOTOR STAGE

ELS 168

-
se rl es Base Color Black or White (89 & HZAIIS)

Repeatability (um) +1ym (Resolution of 1um or Better)

Accuracy (um/mm)  (F1) +10um / 300mm

Flatness / Straightness (um/mm) | £10um / 300mm
Moving Stroke 0 ~ 3000 mm
Motor Coil Type Core Type (89 & HZ 7}

olr

)

Accessory Cable, Vayor, Bracket & Driver, etc.

(1) Error Mapping 0% DATA

M Linear Motor Specifications

ELS168-xSxxxxXX-A(spec.)

Spec. Al A2 A3 A4 B1 B2 B3 ‘ B4
Continuous Force 18.8 N 38.0 N 56.8 N 752 N 421N 845N 1251 N 166.7 N
Peak Force 56.4 N 1140 N 1705 N 2257 N 126.3 N 2535 N 3753 N 500.1 N
Continuous Current 1.3 Arms 2.0 Arms
Peak Current 3.9 Arms 6.0 Arms

Condition A

Velocity : 1.5m/s  Accelation : 1.5G  Stroke : 300mm  Dwell Time : 1000msec (1)

(32) Maximum Payload (kg)

wihin 06 within 25 within 42 within 59 within 32 within 7.6 within 116 within 15.8

Condition B

Velocity : Im/s  Accelation : 1G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maximum Payload (kg)

within 17 within 47 within 75 within 102 within 56 within 125 within 188 within 25.4

Condition C

Velocity : 0.5m/s  Accelation : 0.5G  Stroke : 300mm  Dwell Time : 1000msec (F1)

(32) Maximum Payload (kg)

within 49 within 11 within 17 within 228 within 127 within 267  within 399  within 535

(

% (1) A2 / JH4E / Stoke S TIEF £ WZA HE TR
% (x

2) Motor + Slider + LM Block(4 BLK) WeightS 2|8t Z|55} (Y] Datas ZTEO=2 MAHF Motion0l| M2 HEtst AIRE HE Q)

H Available in Different Linear Motor [ELS 168 Series]

Maker Model Maker Model
Yaskawa SGLFW—-20A Series, SGLFW-35A Series Akribis ACM1-S30, ACM1-L30
Mitsubishi LM-H2P1A-06M—-4SS0 THK CDM04-40C, CDMO5 Series
Tecnotion TM Series TPC NMTL-FMI Series, NMTL-FSM Series
Parker R5 Series

07 www.elpatec.com



ELPATEC

H Dimensions Table

Model Stroke Total Length A B C N Slider Length ~ Weight (kg)
ELS168-150500xx—AA1 500 740 20 40 10 3 90 12.5
ELS168-151000xx—AA1 1000 1240 20 40 20 5 90 19
ELS168-151500xx—AA1 1500 1740 20 40 30 7 90 25
ELS168-152000xx—AA1 2000 2240 20 40 40 9 90 315
ELS168-150500xx—AA2 500 774 20 40 27 3 124 13.3
ELS168-151000xx—AA2 1000 1274 20 40 37 5 124 20
ELS168-151500xx—AA2 1500 1774 20 40 47 7 124 26
ELS168—-152000xx—AA2 2000 2274 20 40 57 9 124 325
ELS168-150500xx—AA3 500 810 18 50 45 3 160 13.8
ELS168-151000xx—AA3 1000 1310 18 50 55 5 160 20
ELS168—-151500xx—AA3 1500 1810 18 50 65 7 160 26.5
ELS168-152000xx—AA3 2000 2310 18 50 75 9 160 33
ELS168-1S0500xx—AA4 500 846 27 60 63 3 196 15.5
ELS168-1S1000xx—AA4 1000 1346 27 60 73 ) 196 22
ELS168-151500xx—AA4 1500 1846 27 60 83 7 196 28
ELS168-152000xx—AA4 2000 2346 27 60 93 9 196 345
ELS168-1S0500xx—AB1 500 740 20 40 10 3 90 14.5
ELS168-151000xx—AB1 1000 1240 20 40 20 5 90 22
ELS168-151500xx—AB1 1500 1740 20 40 30 7 90 30
ELS168-152000xx—AB1 2000 2240 20 40 40 9 90 37
ELS168-150500xx—AB2 500 788 20 40 34 3 138 15
ELS168-1S1000xx—AB2 1000 1288 20 40 44 D) 138 23.5
ELS168-151500xx—AB2 1500 1788 20 40 54 7 138 31
ELS168-152000xx—AB2 2000 2288 20 40 64 9 138 38,5
ELS168-150500xx—AB3 500 836 18 50 58 3 186 15,5
ELS168—-151000xx—AB3 1000 1336 18 50 68 5 186 245
ELS168-151500xx—AB3 1500 1836 18 50 78 7 186 32
ELS168-152000xx—~AB3 2000 2336 18 50 88 9 186 39.5
ELS168—-1S0500xx—AB4 500 884 27 60 82 3 234 18
ELS168-151000xx—AB4 1000 1384 27 60 92 B 234 2515
ELS168—-151500xx—AB4 1500 1884 27 60 102 7 234 3315
ELS168-152000xx—AB4 2000 2384 27 60 112 9 234 4

B External Dimension

2-{J6 DP15 M8 TAP DP20
DOWEL PIN HOLE
i = S E——ry =T T
8 | Jz
.\ = =% =19 O \l_L!
a8l 8 ]8]
75 SLDER LENGTH STROKE )
5 15 45
N T
f% == R _
‘ TOTAL LENGTH (L) ‘
@7 THRU 2-006 DP15
C/B @11 DP6 (REAR SIDE) DOWEL PIN HOLE
7 T + e
gl H- — . .
o ry e
600
c N X 240 PITCH

ELS Series _08



Zd LINEAR MOTOR STAGE

ELS 200

Series

B Performance Specifications

Repeatability (um)

+1ym (Resolution of 1um or Better)

Accuracy (um/mm)  (F1)

+10im / 300mm

Flatness / Straightness (um/mm)

+10im / 300mm

Moving Stroke

0 ~ 3000 mm

Motor Coil Type

Core Type (82| & HA J}s)

olr

Base Color

Black or White (89| & HZAIIs)

Accessory

Cable, Vayor, Bracket & Driver, etc.

(1) Error Mapping 0% DATA

M Linear Motor Specifications

ELS200-xSxxxxXX-A(spec.)

Spec. C1 Cc2 C3 C4
Continuous Force 783 N 15674 N 236.2 N 3153 N
Peak Force 2349 N 4722 N 7086 N 9459 N
Continuous Current 3.8 Arms
Peak Current 11.4 Arms
Condition A Velocity : 1.5m/s  Accelation : 1.5G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maximum Paylosd (kg) within 6 | within 14 | within 22 | within 30
Condition B Velocity : 1m/s  Accelation : 1G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maxinun Paylozd (ko) within 10 | within 23 | within 36 | within 48
Condition C Velocity : 0.5m/s  Accelation : 0.5G  Stroke : 300mm  Dwell Time : 1000msec (Z1)

(%2) Maximum Payload (ko) within 24 | within 50 | within 75 | within 101

% (1) A2 / JH4E / Stoke S TIEF £ WZA HE TR
% (x

(2) Motor + Slider + LM Block(4 BLK) Weight2 |2t X|CHE5} (9| Datas= ZH12O=Z M Motion0| M2 &St AIRE HE ZQ)

H Available in Different Linear Motor [ELS 200 Series]

Maker Model Maker Model
Mitsubishi LM-H2P2 Series THK CDM10 Series, CDM15 Series
Parker R7 Series TPC NMTL-FMD Series

09 www.elpatec.com



ELPATEC

H Dimensions Table

Model Stroke  Total Length A B c N Slider Length ~ Weight (kg)
ELS200-150500xx—AC1 500 770 20 40 25 3 120 22
ELS200-1S1000xx—AC1 1000 1270 20 40 35 5 120 33
ELS200-151500xx—ACT 1500 1770 20 40 45 7 120 45
ELS200-152000xx—AC1 2000 2270 20 40 55 9 120 56
ELS200-1S0500xx—AC2 500 810 20 40 45 3 160 2
ELS200-1S1000xx—AC2 1000 1310 20 40 55 5 160 35
ELS200-151500xx~AC2 1500 1810 20 40 65 7 160 46
ELS200-152000xx~AC2 2000 2310 20 40 75 9 160 57
ELS200-1S0500xx—AC3 500 870 20 60 75 3 220 27
ELS200-1S1000xx—~AC3 1000 1370 20 60 85 5 220 38
ELS200-151500xx—AC3 1500 1870 20 60 95 7 220 48
ELS200-152000xx—~AC3 2000 2370 20 60 105 9 220 60
ELS200-1S0500xx—AC4 500 930 20 80 105 3 280 29
ELS200-1S1000xx—AC4 1000 1430 20 80 115 5 280 40
ELS200-151500xx—AC4 1500 1930 20 80 125 7 280 52
ELS200-152000xx—AC4 2000 2430 20 80 135 9 280 62

B External Dimension

2-(8 DP15 M8 TAP DP20
DOWEL PIN HOLE
i = o—b o | I ) T
g | |
T 0% % 5] o s o o i
Wl sls]
TOTAL LENGTH (L)
7% SLIDER LENGTH STROKE 75
5.8 85
ol ——
== = - .
2 a| 2
| — - ® C] ®
& ® o ® o ® o ® @l e ®
200
@9 THRU 2-(8 DP15
C/B @14 DP8 (REAR SIDE) DOWEL PIN HOLE

S

= =

R | & e 'S /f

d =

< < 4,\
600 M8 TAP DP15

c N X 240 PITCH

168
75

ELS Series _10



SiE LINEAR MOTOR STAGE

ELS 250

Series

B Performance Specifications

Repeatability (um)

+1ym (Resolution of 1um or Better)

Accuracy (um/mm)

(F1)

+10im / 300mm

Flatness / Straightness (um/mm)

+10im / 300mm

Moving Stroke

0 ~ 3000 mm

Motor Coil Type

Core Type (82| & HA J}s)

olr

Base Color

Black or White (89| & HZAIIs)

Accessory

Cable, Vayor, Bracket & Driver, etc.

(1) Error Mapping 0% DATA

M Linear Motor Specifications

ELS250-xSxxxxXX-A(spec.)

Spec. D1 D2 D3 D4
Continuous Force 162.6 N 319.3 N 4805 N 639.3 N
Peak Force 4878 N 9579 N 1,4415 N 19179 N
Continuous Current 6.4 Arms
Peak Current 19.2 Arms
Condition A Velocity : 1.5m/s ~ Accelation : 1.5G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maximum Paylosd (kg) within 13 | within 28 | within 44 | within 60
Condition B Velocity : 1m/s  Accelation : 1G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maxinun Paylozd (ko) within 22 | within 47 | within 72 | within 97
Condition C Velocity : 0.5m/s  Accelation : 0.5G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maximum Payload (ko) within 50 | within 101 | within 154 | within 205

(

¥ (F1) &£ / 7H8E / Stroke & J|EH 2 HAA ZE R
% (F2) Motor + Slider + LM Block(4 BLK) Weightg H2|8t 2|5t ($] Datas 1802

E7T Motionol| TE YetGt ABE HE ER)

H Available in Different Linear Motor [ELS 250 Series]

Maker Model Maker Model
Yaskawa SGLFW-50A Series Parker R10 Series
Tecnotion TL Series THK CDM20 Series

Akribis ACM1-S850, ACM1-L50, ACM2 Series, ACM3 Series

11 www.elpatec.com



ELPATEC

H Dimensions Table

Model Stroke  Total Length A B c N Slider Length ~ Weight (kg)
ELS250~180500xx—AD1 500 840 23 60 60 3 160 37
ELS250—151000xx—AD! 1000 1340 23 60 70 5 160 53
ELS250~151500xx~AD! 1500 1840 23 60 80 7 160 69
ELS250~152000xx~AD1 2000 2340 23 60 90 9 160 85
ELS250~180500xx—AD2 500 906 23 60 93 3 226 40
ELS250-151000xx—AD2 1000 1406 23 60 103 5 226 56
ELS250-151500xx—AD2 1500 1906 23 60 113 7 226 72
ELS250~152000xx~AD2 2000 2406 23 60 123 9 226 88
ELS250-180500xx—AD3 500 990 35 80 135 3 310 46
ELS250-151000xx—AD3 1000 1490 35 80 145 5 310 62
ELS250-151500xx—AD3 1500 1990 35 80 155 7 310 78
ELS250-152000xx~AD3 2000 2490 35 80 165 9 310 95
ELS250-150500xx~AD4 500 1074 47 100 57 4 394 52
ELS250—1S1000xx—AD4 1000 1574 47 100 67 6 394 68
ELS250—151500xx—AD4 1500 2074 47 100 77 8 394 84
ELS250—152000xx—AD4 2000 2574 47 100 87 10 394 100

B External Dimension

2-(08 DP15 M8 TAP DP20

DOWEL PIN HOLE  \

i e — = s s 5 o T

=}
o
«

I E = —— = R S—— =

lalelel

TOTAL LENGTH (L)

90 SLIDER LENGTH STROKE 90 250
4545 45 ‘ 20 20 ‘
| -
‘.‘_"$ = 5 5 P < 9 “’l
- &
2 — = *+D+*
250
@9 THRU 2-(38 DP15
C/B @14 DP8 (REAR SIDE) DOWEL PIN HOLE
2 + + + =
5 — ——
~ I
\
% FS + Es FS
720
C N X 240 PITCH

ELS Series _12



S LINEAR MOTOR STAGE

Repeatability (um) +1ym (Resolution of 1um or Better)
Accuracy (um/mm)  (F1) +10um / 300mm
E Ls 300 Flatness / Straightness (um/mm) | =10 / 300mm
Moving Stroke 0 ~ 3000 mm
- Motor Coil Type Core Type (89| & HA 7Is)
se rl es Base Color Black or White (82| & HZAIIS)
Accessory Cable, Vayor, Bracket & Driver, etc.

(1) Error Mapping 0% DATA

H Linear Motor Specifications

ELS300-xSxxxxXX-A(spec.)

Spec. E1 E2 E3 E4
Continuous Force 4018 N 8226 N 1,2316 N 1,638.0 N
Peak Force 1,205.4 N 2,467.7 N 3,694.7 N 49150 N
Continuous Current 11.3 Arms
Peak Current 33.9 Arms
Condition A Velocity : 1.5m/s ~ Accelation : 1.5G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maximun Payload (ko) within 38 | within 82 | within 124 | within 130
Condition B Velocity : 1m/s  Accelation : 1G  Stroke : 300mm  Dwell Time : 1000msec (1)

(%2) Maxinun Paylozd (ko) within 61 | within 130 | within 196 | within 262
Condition C Velocity : 0.5m/s  Accelation : 0.5G  Stroke : 300mm  Dwell Time : 1000msec (Z1)

(%2) Maximum Payload (ko) within 129 | within 269 | within 404 | within 539

¥ (F1) &£ / 7H8E / Stroke & J|EH 2 HAA ZE R
% (F2) Motor + Slider + LM Block(4 BLK) WeightS H|e|st Z|HE 5 (¥ Datas ZHTIE2=2 MAX Motionof| M2 &Gt AIRE HE Q)

H Available in Different Linear Motor [ELS 300 Series]

Maker Model Maker Model

Yaskawa SGLFW-1ZA Series Akribis ACM1-S100, ACM1-L100, ACM4 Series
Mitsubishi LM—-H2P3 Series, LM—FP2 Series THK CDMB3O0 Series
Tecnotion TB Series, TBW Series TPC NMTL-FLA Series, NMTL-FEX Series

13 www.elpatec.com



ELPATEC

H Dimensions Table

Model Stroke  Total Length A B c N Slider Length ~ Weight (kg)
ELS300-150500xx—AET 500 890 40 80 85 3 200 62
ELS300-150980xx—AE 980 1370 40 80 85 5 200 85
ELS300-151460xx-AE1 1460 1850 40 80 85 7 200 105
ELS300-151940xx~AE1 1940 2330 40 80 85 9 200 125
ELS300-1S0500xx—AE2 500 1010 40 80 145 3 320 65
ELS300-150980xx—AE2 980 1490 40 80 145 5 320 90
ELS300-151460xx~AE2 1460 1970 40 80 145 7 320 110
ELS300-151940xx~AE2 1940 2450 40 80 145 9 320 130
ELS300-1S0500xx—AE3 500 1130 20 80 85 4 440 77
ELS300-1S0980xx—AE3 980 1610 20 80 85 6 440 100
ELS300-151460xx—AE3 1460 2090 20 80 85 8 440 120
ELS300-151940xx—AE3 1940 2570 20 80 85 10 440 140
ELS300-180500xx—AE4 500 1250 30 100 145 4 560 90
ELS300-1S0980xx—AE4 980 1730 30 100 145 6 560 110
ELS300-151460xx—AE4 1460 2210 30 100 145 8 560 130
ELS300-151940xx—AE4 1940 2690 30 100 145 10 560 155

B External Dimension

2-08 DP15 M8 TAP DP20
DOWEL PIN HOLE
s = +vv % Fv o °
§ uts
fus
L S S S S £:> £y
allelelelele]
TOTAL LENGTH (L)
% SLIDER LENGTH STROKE
MAX 30 60,60, 60

L ! ‘v + + + = —— ot i) .

— - s s - i £ +« O«
L e & |
300
@9 THRU 2-(J8 DP20
C/B (314 DP16 (REAR SIDE) DOWEL PIN HOLE
7 = = = <= =
° . . . . . . . . { . -
% —
) i o o o o o o o o o 0 31]
+ +
720
c N X 240 PITCH

ELS Series _14



ECR 065 - S - 0050 - 20 - 050

| Base Width (mm) 065
090
120
160

a Motor Shape Direct Coupled
Parallel Bottom
Parallel Left
Parallel Right

- 0w

B Stroke (mm) 50 : 0050
100 : 0100
150 : 0150
500 : 0500

n Ball Screw Lead 5 : 05
10 :10
15 :15
20 : 20

15 www.elpatec.com

TYPE CLEAN ROBOT

o4 4Series A

.A.

A
D B

B Motor Capacity

BAMR| Blank
50W 1 050
100W 1 100
200W 1 200
400W 1400
750W 1 750
50W Brake : 05B
100W Brake : 10B
200W Brake : 20B
400W Brake : 40B
750W Brake : 75B
B Motor Maker Panasonic TA
Yaskawa B
Mitsubishi 1 C
Bosch Rexroth: D
Sensor Option 2AMX| : Blank
PM-Y65 A
PM-L25 ' B
EE-XX672 i C
EE-XX674 ' D
EE-XX677 T E
n Robot Color White TW
Black ' B



ELPATEC

H ECR Series

s3u3s g3

SAIRG}
ME REQ =02
Hast x| xof

LM Guide M2 =2
Dz
£2 YUSE |X

HHZEe M ERE
nZALe| WHE H T
S0l 7ts

12y
sao|= Holg X

m
»
A
)
m
)
m
(]
o|Z7|7| EO0F F2 X
0
=
=
=
=
=
o
=
<
»
)
m
)
m
(]
=
»
)
m
2
m
(]

ECR Series _16



ECR 065 i

ECR 065-S

Direct Coupled

ECR 065-B

Parallel Bottom

ECR 065-L

Parallel Left

ECR 065-R

Parallel Right

17 www.elpatec.com




ELPATEC

m
r
7/
(7]
2

H Performance Specifications =
(7]

Model ECR 065

Motor (W) 50 W ~ 100 W

Ball Screw Lead 5 | 10 20 5 | 10 20

Stroke (mm) 50 ~ 500 50 ~ 500

Repeatability (mm) + 0,02 £ o0 + 0,02 - £ o0

LM Guide 1 Way 24 — 1 Block

Body Color Black or White

Accessory Cable, Vayor, Bracket & Driver, etc.

m
»
H Stroke By Max Speed -]
Stroke r‘f-’,
Model  Ball Screw Lead E)
50 100 150 200 250 800 350 400 450 500 -
5 250 mm/sec -
ECR 065 @12 10 500 mm/sec
20 1000 mm/sec
% (F) B7| Q| Stroke AF2A| HAIZ 29| HiZfLICH e
(@]
=
@
=
=
(@]
=
B Max Payload
Motor Output
Model  Ball Screw Lead Mount
50W 100W
5 Horizonal 8 kg 12 kg <
Vertica 6 kg 9 kg (7))
Horizonal 5 k 10 k ]
ECRO0B5 @12 10 : g g m
Vertica 3 kg 7 kg =
” Horizonal 3 kg 6 kg ("
Vertica 2 kg 4 kg
s
(/)]
»
m
2
m
(7]

ECR Series _18



ECR 065-S

Direct Coupled

Bl Dimensions Table (mm)
Stroke 50 100 150 200 250 300 350 400 450 500
Total Length 273 323 373 423 473 523 573 623 673 723
A 30.5 355 355 255 30.5 355 455 255 30.5 355
B 160 200 240 320 360 400 440 520 560 600
N (EA) 4 5 6 8 9 10 13 14 15
Weight (kg) 27 3.2 3.7 42 47 52 57 6.2 6.7 72

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1
Mitsubishi HG-KR053 Mitsubishi HG-KR13

50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01
LS Mecapion FALR5A LS Mecapion FALO1A

B External Dimension

4-M5X0.8 DPIO_ 10, 4-05 0P6
60 DOWEL PIN HOLE
40
o FIT= = H_ﬁ@w
o, | ST — [ (oo e H
40 110 STROKE 21
I ]
Far 7= = ] o
bdl 1 = n.‘ 3
52 STROKE + 171 65
STROKE + 223 = TOTAL LENGTH
4-5 THRU B
DOWEL PIN HOLE (40)
FIr 7= =7 [eog T T T T N S T T S - SR,
kii:glﬂlw ++¢++++++¢+¢L——.ﬂ—°‘

N X 40 PITCH

M5x0,8 THRU

19 www.elpatec.com



ELPATEC
ECR 065-B

Parallel Bottom

m

r

»

(71}

3

B Dimensions Table (mm) -

("]
Stroke 50 100 150 200 250 300 350 400 450 500
Total Length 261 3N 361 an 461 511 561 61 661 m
A 185 185 200 185 185 200 200 185 190 190
B 40 80 120 200 240 280 320 400 440 480
N (EA) 1 2 3 5 6 7 8 10 1 12
Weight (kg) 37 42 47 5.2 57 6.2 6.7 7.2 77 8.2

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1 m
Mitsubishi HG-KR053 Mitsubishi HG-KR13 -]
50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01 7
m
LS Mecapion FALR5A LS Mecapion FALO1A x
m
(/]
(o]
(@]
B External Dimension §
=
=
(@]
110 =
4-M5x0.8 DP10 60 4-5 DP6
F@T DOWEL PIN HOLE
<
40 110 STROKE 21 »
9 H . . | E
::' | | m
& | p— 7]
L )= =ted
67 4 STROKE + 171
83 STROKE + 211 = TOTAL LENGTH
4-@5 THRU B
DOWEL PIN HOLE (20) =
[
e T S e T S T TR »
!T~H»4<»<»++++++++++44q—°‘ 7
A N X 40 PITCH M5x0,8 THRU g
m
(7]

ECR Series _20



ECR 065-L

Parallel Left

Bl Dimensions Table

(mm)
Stroke 50 100 150 200 250 300 350 400 450 500
Total Length 261 311 361 411 461 511 561 611 661 71
A 70.5 75.5 80.5 65.5 70.5 75.5 80.5 85.5 70.5 75.5
B 160 200 240 320 360 400 440 480 560 600
N (EA) 4 5 6 8 9 10 1 12 14 15
Weight (kg) 37 42 47 5.2 57 6.2 6.7 72 77 8.2

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1
Mitsubishi HG-KR053 Mitsubishi HG-KR13

50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01
LS Mecapion FALR5A LS Mecapion FALO1A

B External Dimension

= =3
= =lkd
]
40
4-M5x0.8 DP10 50 _4-@5 DP6
110 DOWEL PIN HOLE
40, 110 STROKE 21
H L] L] I
l ] ]
122 ‘1 40 STROKE + 171
138 _‘ STROKE + 211 = TOTAL LENGTH
4-@5 THRU ‘ B
DOWEL PIN HOLE (40)
[ ]
S S S S S S S S T
Joo < RS S S S S S S S S S S S S T
= =3
J: =l M6x0.8 THRU
A N X 40 PITCH

21 www.elpatec.com



ELPATEC
ECR 065-R

Parallel Right

m

r

»

(71}

3

B Dimensions Table (mm) -

("]
Stroke 50 100 150 200 250 300 350 400 450 500
Total Length 261 3N 361 an 461 511 561 61 661 m
A 705 755 805 655 705 755 805 85 705 755
B 160 200 240 320 360 400 440 480 560 600
N (EA) 4 5 6 8 9 10 1 12 14 15
Weight (kg) 37 42 47 5.2 57 6.2 6.7 7.2 77 8.2

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1 m
Mitsubishi HG-KR053 Mitsubishi HG-KR13 -]
50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01 7
m
LS Mecapion FALR5A LS Mecapion FALO1A x
m
(/]
(o]
(@]
B External Dimension =
=
=
- 110 4~(95 DP6 o
4-M5x0.8 DP10
- 60 DOWEL PIN HOLE <
)
=T q
kA
<
/]
20 110 STROKE 2 65 (7]
" m
. \ 2
m
L (7]
6 12 4 STROKE + 171
138 STROKE + 211 = TOTAL LENGTH
4-35 THRU ‘ B
DOWEL PIN HOLE (40
- s
=k m
oy 3 ¢ 7 F 7 v ¢ ¢ 7 7 7 v v 3 e
SRR S S S S S S S S S S SN SN S S T S g"
L T
A N X 40 PITCH M5x0,8 THRU I.E;I
(7]

ECR Series _22



ECR 090 i

ECR 090-S

Direct Coupled

ECR 090-B

Parallel Bottom

ECR 090-L

Parallel Left

ECR 090-R

Parallel Right




ELPATEC

B Performance Specifications

Model ECR 090
Motor (W) 100 W ~ 400 W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50 ~ 1100 50 ~ 1100
Repeatability (mm) + 0,02 - £ o0 + 0,02 £ o0
LM Guide 2 Way 12WN — 2 BLOCK
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc.

B Stroke By Max Speed

Stroke
Model  Ball Screw Lead
100 200 300 400 500 600 700 800 900 1000 1100
5 250 mm/sec
ECR090 @15 10 500 mm/sec
20 1000 mm/sec

X (F) ®7] 2 Stroke AHBA| HAIZ 29| HiZLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
100W 200W
5 Horizonal 30 kg 30 kg
Vertica 22 kg 26 kg
Horizonal 12 kg 30 kg

ECR 090 @15 10 :

Vertica 8 kg 16 kg
2 Horizonal 4 kg 28 kg
Vertica 2 kg 8 kg

ECR Series _24

s31M3s g3

s31M3as §A NOILLVNIEGINOD s3u3s Ys3

s3as gl



ECR 090-S

Direct Coupled

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100

Total Length 427 527 627 727 827 927 1027 127 1227 1327 1427

A 65 115 105 95 85 135 65 115 105 95 85

B 240 240 360 480 600 720 840 840 960 1080 1200

N (EA) 2 2 3 4 5 6 7 7 8 9 10

Weight (kg) 28 41 5.4 6.7 78 8.9 10.2 15 12.8 14.1 15.4

() 27| 2 Stroke AFA| TAIZ 29| HEZL|CH,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02
Mitsubishi HG-KR13 Mitsubishi HG-KR23

100W 200w
Yaskawa SGM7J-01 Yaskawa SGM7J-02
LS Mecapion FALO1A LS Mecapion FBLO2A

B External Dimension

4-M5x0.8 DP10

70

2-(5 DP8
DOWEL PIN HOLE

STROKE

\ | |
| e ——— i S—— —
g’}%f a ©
i | — * 1| Rm E
57 STROKE + 270
STROKE + 327 = TOTAL LENGTH
4-@6 DP10 B 6.6 THRU
DOWEL PIN HOLE (120) C/B @11 DP3
(REAR SIDE)
o)
o B! k. ES + + ~ i
i I — : + + 3 | gi gI
kAt il 3 3 + $ &3 |
A N X 120 PITCH M6x1 DP10

25 www.elpatec.com



ELPATEC
ECR 090-B

Parallel Bottom

m
F
»
(71}
3
B Dimensions Table (mm) -
(]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 400 500 600 700 800 900 1000 1100 1200 1300 1400
A 180 180 180 165 180 180 180 180 180 200 200
B 120 240 360 480 480 600 720 840 960 960 1080
N (EA) 1 2 3 4 4 5 6 7 8 8 9
Weight (kg) 3.2 45 5.8 71 8.2 93 106 M9 1832 145 158

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02 m
Mitsubishi HG-KR13 Mitsubishi HG-KR23 -]
100W 200W
Yaskawa SGM7J-01 Yaskawa SGM7J-02 7
m
LS Mecapion FALO1A LS Mecapion FBLO2A x
m
(/]
(o]
(@]
B External Dimension =
=
=
4-M5x0.8 DP10 ‘—1200 2-@5 DP8 g
M50, -
(78)__ 100 _25. “poweL pi HoLE
Er:ﬁ
-]
<
(90) % /]
(7
_ m
] 2
S 2 m
ks [P ®
e
92 40 STROKE + 260
108 STROKE + 300 = TOTAL LENGTH
4-@6 DPI0 B (25/6,6 THRU
C/B @11 DP3
DOWEL PIN HOLE (120) (1A% SoB) g
[ < 1
B e = -
Y A A A A ‘ @
A N X 120 PITCH et DP1O E
(7]

ECR Series _26



ECR 090-L

Parallel Left

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 400 500 600 700 800 900 1000 1100 1200 1300 1400
A 140 140 120 120 120 120 100 140 140 140 120
B 120 240 360 480 600 720 840 840 960 1080 1200
N (EA) 1 2 3 4 5 6 7 7 8 9 10
Weight (kg) 3 43 5.6 6.9 8.2 95 10.8 12.1 134 147 16

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02
Mitsubishi HG-KR13 Mitsubishi HG-KR23

100W 200W
Yaskawa SGM7J-01 Yaskawa SGM7J-02
LS Mecapion FALO1A LS Mecapion FBLO2A
H External Dimension
=ik
i
o @ 3 (5 eld
or [
~ | G| L
° | e 3 G5 el
50
4-M5:08 DPI0 | (75) | 100 25 “\_2-@5DP8
0 = DOWEL PIN HOLE
35 200 ‘ STROKE % 90
! : 4 = 4ol
202 ‘14 40 STROKE + 260
218 \ STROKE + 300 = TOTAL LENGTH
4-76 DPIO B g/sB,s :TRtgjps
DOWEL PIN HOLE (120) (REAF? SIDE)
[ 1
< 5 < + + "i 01
o ks s o Es N ©
EY £ K2 K3 K3 i
[ Im M6x1 DP10
-4
A N X 120 PITCH

27 www.elpatec.com



ELPATEC
ECR 090-R

Parallel Right

m
F
»
(71}
3
B Dimensions Table (mm) -
(]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 400 500 600 700 800 900 1000 1100 1200 1300 1400
A 40 140 120 120 120 120 100 140 140 140 120
B 120 240 360 480 600 720 840 840 960 1080 1200
N (EA) 1 2 3 4 5 6 7 7 8 9 10
Weight (kg) 3 43 5.6 6.9 8.2 95 108 121 134 147 16

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02 m
Mitsubishi HG-KR13 Mitsubishi HG-KR23 -]
100W 200W
Yaskawa SGM7J-01 Yaskawa SGM7J-02 7
m
LS Mecapion FALO1A LS Mecapion FBLO2A x
m
(/]
(o]
(@]
B External Dimension =
=
4-M5x0.8 DP10 20 2-(35 DP8 =
M5 e B —
SR L8 100 25 (o)
= DOWEL PIN HOLE >
<
— /]
35 200 STROKE % .
I I— 2
ﬁ‘— R 2
‘%[ i 4‘.“.‘j = = ! m
I ‘ B
202 ) STROKE + 260
\_ 218 STROKE + 300 = TOTAL LENGTH
4-@6 DP10 B
DOWEL PIN HOLE (120)
- 966 THRU

pe; 2 C/B @11 DP3
)ik\;‘b; (REAR SIDE) =
- B 3 53 3 ‘ uu)’
o pS o S ES “"‘t %1 m
: E3 E3 E3 FS FS | : E
m
A N X 120 PITCH M6x1 DP10 (7]

ECR Series _28



o4 : 8 {1 ] Series

ECR 120-S

Direct Coupled

ECR 120-B

Parallel Bottom

ECR 120-L

Parallel Left

ECR 120-R

Parallel Right

29 www.elpatec.com




ELPATEC

B Performance Specifications

Model ECR 120
Motor (W) 200 W ~ 400 W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50 ~ 1100 50 ~ 1100
Repeatability (mm) + 0,02 ~ + 00 + 0,02  +00
LM Guide 2 Way 15WN — 2 BLOCK
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc,

B Stroke By Max Speed

Stroke
Model  Ball Screw Lead
100 200 300 400 500 600 700 800 900 1000 1100
5 250 mm/sec
ECR120 (15 10 500 mm/sec
20 1000 mm/sec

X (F) ®7] 2 Stroke AHBA| HAIZ 29| HiZLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
200W 400W
5 Horizonal 50 kg 50 kg
Vertica 50 kg 50 kg
Horizonal 50 kg 50 kg

ECR 120 @15 10 )

Vertica 22 kg 38 kg
” Horizonal 28 kg 45 kg
Vertica 10 kg 20 kg

ECR Series _30

s31M3s g3

s31M3as §A NOILLVNIEGINOD s3u3s Ys3

s3as gl



ECR 120-S

Direct Coupled

Bl Dimensions Table

(mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 422 522 622 722 822 922 1022 122 1222 1322 1422
A 110 10 10 110 110 110 10 10 10 110 10
B 200 300 400 500 600 700 800 900 1000 1100 1200
N (EA) 2 3 4 5 6 7 8 9 10 1 12
Weight (kg) 45 6.1 7.7 9.3 10.9 125 141 15.7 17.3 18.9 20.5

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200w 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

B External Dimension

210
4G DPT5 (335) 143 33.1 295 P55
Y DOWEL PIN HOLE
N==K) T3 s g e OJ
g [ F I il I rﬁ
B I I ’H
° ° 03 5 Co0 2 T
385 210 ‘ STROKE _2‘1,5
[ | T T T TNy | —
o F 1 T N =g
oty dle B ) ° = Ho:]o
(120) ; 52 STROKE + 270 120
137 STROKE + 322 = TOTAL LENGTH
4-g96 DP8 B
@45 THRU
DOWEL PIN HOLE {100) o6 78 %
(REAR SIDE)
- j,l—l- - - . - . . ¥
FHE N : - - - : : OJ s
S . : . ‘ . s s 3
et < t t RS t t ES
A N X 100 PITCH M5x0.8 DP10

31 www.elpatec.com



ECR 120-B

Parallel Bottom

ELPATEC

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 400 500 600 700 800 900 1000 1100 1200 1300 1400
A 200 200 200 200 200 200 200 200 200 200 200
B 100 200 300 400 500 600 700 800 900 1000 1100
N (EA) 1 2 3 4 5 6 7 8 9 10 11
Weight (kg) 5.6 72 8.8 10.4 12 136 15.2 16.8 18.4 20 216

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200W 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

B External Dimension

150.5
137

2
4-M6x1 DPI5 %-ﬁ[ 2-95 DP55
(335) 143 335 “DoweL PN HOLE
5
==K ES e Cog s I :ﬁ
5 H L
\ | Ad
N==K) [ RO e
85 210 ‘ STROKE 25 120
] ———— - "l ©
d o o B L) =~
j =P
122 16 40 STROKE + 260
138 STROKE + 300 = TOTAL LENGTH
4-6 P8 o0l B 45 THRU
DOWEL PIN HOLE C/B 8 DP5
(REAR SIDE)
At + + +
£ 3 ! T T 3ls
s ] . . .
34 : : - . - -
A N X 100 PITCH M5x0.8 DP8

ECR Series _32

s31M3s g3

saas GA NOLLYNIGINOD sI3S YS§3

s3andas N



ECR 120-L

Parallel Left

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 400 500 600 700 800 900 1000 1100 1200 1300 1400
A 140 140 140 140 140 140 140 140 140 140 140
B 200 300 400 500 600 700 800 900 1000 1100 1200
N (EA) 3 3 4 5 6 7 8 9 10 11 12
Weight (kg) 5.6 72 8.8 10.4 12 136 15.2 16.8 18.4 20 216

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200w 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

B External Dimension

i
.
In|
LJ|
.
o
=

\
!
J

|
>

1.5 \b
4-M6x1 DP15 :
— (335 143 3.5 2-(J5 DP5.5

DOWEL PIN HOLE

= =0

B
4

N

| /3]
i

85 210 STROKE 215
J— ——— ‘
Il ©
g - - “] L. :
232 6 ) STROKE + 260 120
248 I STROKE + 300 = TOTAL LENGTH
4-0J6 DP8 0 B @45 THRU
DOWEL PIN HOLE (100 C/B @8 DP5
(REAR SIDE)
hd 3 hd ad hd hd
RN ° ° ¢ 3|8
T 1 pe T 1 pe
F M5x0,8 DP8
4 '
A N X 100 PITCH

33 www.elpatec.com



ELPATEC
ECR 120-R

Parallel Right

m
F
»
(71}
3
B Dimensions Table (mm) -
(]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 400 500 600 700 800 900 1000 1100 1200 1300 1400
A 140 140 140 140 140 140 140 140 140 140 140
B 200 300 400 500 600 700 800 900 1000 1100 1200
N (EA) 3 3 4 5 6 7 8 9 10 l 12
Weight (kg) 5.6 7.2 88 104 12 136 152 168 184 20 218

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04 m
Mitsubishi HG-KR23 Mitsubishi HG-KR43 -]
200W 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04 7
m
LS Mecapion FBLO2A LS Mecapion FBLO4A x
m
(/]
(o]
(@]
B External Dimension =
=
210 2-5 DP55
AMEDPIS  (335)  q43 33, DOWEL PIN HOLE g
715
=
Oi==10 BT sCo s o3
] | ” ” |
;J J=‘ H‘ 5 Co3 3 #” m
==K £Zicos T3
IS
£ <
285 210 STROKE 215 @
"\ 7]
e e ——l _ g
w i . |
‘°I Jaurs CglCJH ™ m
\ 6 232 ) STROKE + 260 120 -
28 STROKE + 300 = TOTAL LENGTH
4-@6 DP8 B
DOWEL PIN HOLE (100)
= §45 THRU
e C/B @8 DP5 =
4 (REAR SIDE) (7))
4 4 + + 4 4
hY . - X . . gl s f
T pe 1 pe pe pe =
T T m
M5x0.8 DP8 .
A N X 100 PITCH

ECR Series _34



o4 ' @ [1] Series

ECR 160-S

Direct Coupled

ECR 160-B

Parallel Bottom

ECR 160-L

Parallel Left

ECR 160-R

Parallel Right

35 www.elpatec.com




ELPATEC

B Performance Specifications

Model ECR 160
Motor (W) 400 W ~ 700 W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50 ~ 1100 50 ~ 1100
Repeatability (mm) + 0,02 ~ + 00 + 0,02 ~ + 001
LM Guide 2 Way 20W — 2 BLOCK
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc,

B Stroke By Max Speed

Model  Ball Screw Lead Stroke
100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
5 250 mm/sec
ECR160 @20 10 500 mm/sec
20 1000 mm/sec

X (F) ®7] 2 Stroke AHBA| HAIZ 29| HiZLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
400W 700W
5 Horizonal 100 kg 100 kg
Vertica 60 kg 60 kg
Horizonal 80 kg 80 kg

ECR 160 @20 10 )

Vertica 40 kg 45 kg
” Horizonal 35 kg 70 kg
Vertica 20 kg 30 kg

ECR Series _36

s31M3s g3

saas GA NOLLYNIGINOD sI3S YS§3

s3andas N



ECR 160-S

Direct Coupled

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500

Total Length 443 543 643 743 843 943 1043 1143 1243 1343 1443 1543 1643 1743 1843

A 70 70 100 100 80 8 8 70 100 100 100 100 100 80 70

B 240 360 360 480 600 720 840 960 960 1080 1200 1320 1440 1560 1680

N (EA) 2 3 3 4 5 6 7 8 8 9 10 1 2 13 14

Weight (kg) 72 97 122 147 172 197 222 247 272 297 322 347 372 397 422

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08
Mitsubishi HG-KR43 Mitsubishi HG-KR73

400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08
LS Mecapion FBLO4A LS Mecapion FCLO8A
H External Dimension
210 208 DP8
4784125 DP1S_ 75‘50 DOWEL PIN HOLE
160 L 65 STROKE + 278 160
177 STROKE + 343 = TOTAL LENGTH
B
4-8 DP10 (120) 6.6 THRU
DOWEL PIN HOLE C/B @11 DP65
(REAR SIDE)
A S T i
E —— . i
+ + + + +
A N X 120 PITCH M6x1 DP12

37 www.elpatec.com



ELPATEC
ECR 160-B

Parallel Bottom

m

F

»

(71}

3

B Dimensions Table (mm) -

(]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
Total Length 428 528 628 728 828 928 1028 1128 1228 1328 1428 1528 1628 1728 1828
A 220 220 220 240 220 220 220 220 220 240 240 220 220 220 220
B 120 240 360 360 480 600 720 840 960 960 1080 1200 1320 1440 1560
N (EA) 1t 2 3 3 4 5 6 7 8 8 9 10 n 122 1
Weight (kg) 9 115 14 165 19 215 24 265 29 315 34 365 39 415 44

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08 m
Mitsubishi HG-KR43 Mitsubishi HG-KR73 -]
400W 750W

Yaskawa SGM7J-04 Yaskawa SGM7J-08 7
m
LS Mecapion FBLO4A LS Mecapion FCLO8A x
m
(/]
(o]
(@]
B External Dimension §
=
4-M8x1.25 DP1 210 =
-MBx1.25 DP15 150 2-(J8 DP8 (o)
75 DOWEL PIN HOLE >

— 0 0 3 = To e & F;

2 T l T

- 11 || — [T

——m om0 e m I s » C= s ) F
) 210 STROKE 2 160 5,
‘ T T @
< > . 9 m
N . =) g
= ERRIE o e
L) pl, 2 o

164 1 501 STROKE + 278
179 | STROKE + 328 = TOTAL LENGTH
4-g8 DPID B 96,6 THRU
DOWEL PIN HOLE (120 C/B @il DP65
(REAR SIDE) =
] + + - -
i ———— 4 = g’
Lol s 6 ' g |

B T m
A N X 120 PITCH M6t DP12 o

ECR Series _38



ECR 160-L

Parallel Left

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500

Total Length 428 528 628 728 828 928 1028 1128 1228 1328 1428 1528 1628 1728 1828

A 120 100 100 140 140 140 120 120 100 140 120 120 120 100 100

B 240 360 480 480 600 720 840 960 1080 1080 1200 1320 1440 1560 1680

N (EA) 2 3 4 4 5 6 7 8 9 9 10 1 2 13 14

Weight (kg) 9 115 14 165 19 215 24 265 29 315 34 365 39 415 44

% (%) E7| Q| Stroke AF2A| HAIZ 29| HiZfLCt,

B Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08
Mitsubishi HG-KR43 Mitsubishi HG-KR73

400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08
LS Mecapion FBLO4A LS Mecapion FCLO8A

B External Dimension

ik
L
"
3
- ®
4-M8x1.25 DP15 150 2-¢8 DP8
210 DOWEL PIN HOLE
) 210 T STROKE 26
B ECC—| — T
——— |
. .
294 | és 50 STROKE + 278
310 \ STROKE + 328 = TOTAL LENGTH
4-38 DP10 B @66 THRU
DOWEL PIN HOLE (120) /B @11 DP65
(REAR SIDE)
% % + +
Y PS Py Y £
kS - . . g 8
id i < id s
- + + +
= i
Méx1 DP12
b iy
A N X 120 PITCH

39 www.elpatec.com



ELPATEC
ECR 160-R

Parallel Right

m

F

»

(71}

3

B Dimensions Table (mm) -

(]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
Total Length 428 528 628 728 828 928 1028 1128 1228 1328 1428 1528 1628 1728 1828
A 120 100 100 140 140 140 120 120 100 140 120 120 120 100 100
B 240 360 480 480 600 720 840 960 1080 1080 1200 1320 1440 1560 1680
N (EA) 2 3 4 4 5 8 7 8 9 9 10 M 1 1B 1
Weight (kg) 9 115 14 165 19 215 24 265 29 315 34 365 39 415 44

% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08 m
Mitsubishi HG-KR43 Mitsubishi HG-KR73 -]
400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08 7
m
LS Mecapion FBLO4A LS Mecapion FCLO8A x
m
(/]
(o]
(@]
B External Dimension §
=
21
4-M8x1.25 DP15 ; 58 2-(8 DP8 -]
o DOWEL PIN HOLE —
75 (o)
=
<
/]
(7]
m
2
¥ 5
(7)
6 294 50 STROKE + 278
310 STROKE + 328 = TOTAL LENGTH
4-8 DPI0 B
DOWEL PIN HOLE (120)
— ©6.6 THRU
b
' s
T T T I . 2
A
A N X 120 PITCH M6x1 D12

ECR Series _40



2 BALL SCREW TYPE ROBOT

ESR 070 - S - 0050 - 20 - 050 A-A - W

Base Width (mm) 070
090
120
160

Motor Shape Direct Coupled
Parallel Bottom

Parallel Left

Parallel Right
Stroke (mm) 50 : 0050

100 : 0100

150 : 0150

500 : 0500
Ball Screw Lead 5 : 05

10 :10

15 15

20 : 20

41 www.elpatec.com

- 0w

Motor Capacity

Motor Maker

Sensor Option

Robot Color

FHX|

50W

100W

200W
400W
750W

50W Brake
100W Brake
200W Brake
400W Brake
750W Brake

Panasonic
Yaskawa

Mitsubishi
Bosch Rexroth:

Fax|
PM-Y65
PM-L25
EE-XX672
EE-XX674

EE-XX677

White
Black

WS MOO @ >



ELPATEC

s3as g3

SAIRG}
ME REQ =02
Hast x| xof

LM Guide M2 =2
Dz
£2 YUSE |X

s3¥3s Y93

HHZEe M ER=E
ALl HHE HT|
S0l 7ts

12y
sa0|= Holg X

Q
=]
=
=
=
=
o
2

s3as gA

s3as gl

ESR Series _42



ESR 070 (5

ESR 070-S

Direct Coupled

ESR 070-B

Parallel Bottom

ESR 070-L

Parallel Left

ESR 070-R

Parallel Right

43 www.elpatec.com



ELPATEC

B Performance Specifications

Model ESR 070
Motor (W) 50 W ~ 100 W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50 ~ 500 50 ~ 500
Repeatability (mm) + 0,02 £ 001 + 0,02  + 001

LM Guide 1 Way 24 — 1 Block
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc,

B Stroke By Max Speed

Stroke
Model  Ball Screw Lead
50 100 150 200 250 800 350 400 450 500
5 250 mm/sec
ESR 070 @12 10 500 mm/sec
20 1000 mm/sec

% (F) B7| Q| Stroke AF2A| HAIZ 29| HiZfLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
50W 100W
5 Horizonal 8 kg 12 kg
Vertica 6 kg 9 kg
Horizonal 5 kg 10 kg

ESR 070 @12 10 )

Vertica 3 kg 7 kg
” Horizonal 3 kg 6 kg
Vertica 2 kg 4 kg

ESR Series _44

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



ESR 070-S

Direct Coupled

Stroke 100 150 200 250 300 350 400 450 500
Total Length 273 323 373 423 473 523 573 623 673 723
A 30.5 355 355 255 30.5 35,5 455 255 30.5 35,5

B 160 200 240 320 360 400 440 520 560 600

N (EA) 4 5 6 8 9 10 1 13 14 15
Weight (kg) 2.7 3.2 3.7 42 47 52 57 6.2 6.7 7.2

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

Maker Model Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1
Mitsubishi HG-KR053 Mitsubishi HG-KR13
50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01
LS Mecapion FALR5A LS Mecapion FALO1A

B External Dimension

4508 DPI0 =80 2-050P6
~60_ | DOWEL PN HOLE
Vi -
FI= =
EdET = ——
S
52 80 STROKE 39
T =
Bkt I,’ 'I
70 1J 52 STROKE + 171
87 STROKE + 223 = TOTAL LENGTH
B
4-g5 THRU m
DOWEL PIN HOLE e
" h
F¥E = T T S T S S S T S T 2o
Edl= = ot o ¢ o+ o o v - o o o s 1 le—
A N X 40 PITCH M5x0.8 THRU

45 www.elpatec.com



ELPATEC
ESR 070-B

Parallel Bottom

m
r
(7]
[71]
3
B Dimensions Table (mm) =
(7]
Stroke 100 150 200 250 300 350 400 450 500
Total Length 261 31 361 a1 461 511 561 611 661 m
A 70.5 75.5 80.5 65.5 70.5 75.5 80.5 85.5 70.5 75.5
B 160 200 240 320 360 400 440 480 560 600
N (EA) 4 5 6 8 9 10 11 12 14 15 g
Weight (kg) 37 42 47 5.2 57 6.2 6.7 7.2 77 8.2 =
% () B7| 9 Stroke ARAl YAZ 29| BrELICH @
2
m
(7]

B Motor Capacity

Maker Model Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1
Mitsubishi HG-KR053 Mitsubishi HG-KR13
50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01
LS Mecapion FALR5A LS Mecapion FALO1A

()
(@)
B External Dimension %
—
=
=
—
4-M5x0.8 DP10 80 2-(35 DP6 (@]
60 DOWEL PIN HOLE >
5 L:- —
8%
52_ 80 STROKE 39 70 <
(/)]
- =5 -
o] 9le o | -] 2 =
3| L 9 =
. = T3 % ") a
L= it (E
72 18 40 STROKE + 171
88 STROKE + 211 = TOTAL LENGTH
- B
4-g5 THRU w0
DOWEL PIN HOLE ] =
[ 1

Tt n m

=¥y ¢+ ¢+ ¢ ¢ ¢ ¢+ ¢ + ¢ ¢ % ¢ o8
YV SR S S S S S S S S S S S -
m
A N X 40 PITCH M50,8 THRU ]
m
(7]

ESR Series _46




ESR 070-L

Parallel Left

Bl Dimensions Table

(mm)
Stroke 50 100 150 200 250 300 350 400 450 500
Total Length 261 31 361 an 461 511 561 611 661 7
A 70.5 75.5 80.5 65.5 70.5 75.5 80.5 85.5 70.5 75.5
B 160 200 240 320 360 400 440 480 560 600
N (EA) 4 5 6 8 9 10 12 14 15
Weight (kg) 37 42 47 5.2 57 6.2 6.7 72 77 8.2

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1
Mitsubishi HG-KR053 Mitsubishi HG-KR13

50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01
LS Mecapion FALR5A LS Mecapion FALO1A

B External Dimension

=3
= =k
= ——
% 1
- S
4-M5%0.8 DP10 60 295 DP6
80 DOWEL PIN HOLE
52, 80 STROKE
. ]
o o
132 tl 40 STROKE + 171
148 _|— STROKE + 211 = TOTAL LENGTH
B
g5THRU  4)
DOWEL PINHOLE \ [
1
»4»4*44*44*44**14»#(.,
<»++¢+++»++¢++$<‘QH—N

>z HE e
FIIN
o
STEgT)

N X 40 PITCH

M5x0.8 THRU

47 www.elpatec.com



ESR 070-R

ELPATEC

H Dimensions Table (mm)
Stroke 50 100 150 200 250 300 350 400 450 500
Total Length 261 311 361 411 461 511 561 611 661 vl
A 70.5 75.5 80.5 65.5 70.5 75.5 80.5 85.5 70.5 75.5
B 160 200 240 320 360 400 440 480 560 600
N (EA) 4 5 6 8 9 10 1 12 14 15
Weight (kg) 37 42 47 52 57 6.2 6.7 7.2 77 8.2
X (F) B7| 2| Stroke AF2A| EAIZ 29| HiZfL|Ct
H Motor Capacity
W Maker Model W Maker Model
Panasonic MSMD5A / MSMF5A Panasonic MSMDO1 / MSMFO1
Mitsubishi HG-KR053 Mitsubishi HG-KR13
50W 100W
Yaskawa SGM7J-A5 Yaskawa SGM7J-01
LS Mecapion FALR5A LS Mecapion FALO1A
H External Dimension
4-M5x0.8 DP10 gg 2-(5 DP6
DOWEL PIN HOLE
= jTF;‘ =T s o s T
L= mked
52 80 STROKE 70
i‘fﬁ -. = 75- 2= <
B ;ﬁ%E '} =4 e E -
Le 132 40 STROKE + 171
s STROKE + 211 = TOTAL LENGTH
4-5 THRU B
DOWELPIN*HOLEXY (w0)
E sk
=l
S e S e S S S S S e S S =~ S
S
[ |
A N X 40 PITCH M50.8 THRU

ESR Series _48

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



ESR 090 i

ESR 090-S

Direct Coupled

ESR 090-B

Parallel Bottom

ESR 090-L

Parallel Left

ESR 090-R

Parallel Right

49 www.elpatec.com



ELPATEC

B Performance Specifications

Model ESR 090
Motor (W) 100 W ~ 400 W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50 ~ 500 50 ~ 500
Repeatability (mm) + 0,02 001 + 0,02  £0.01

LM Guide 2 Way 12WN - 2 BLOCK
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc,

B Stroke By Max Speed

Stroke
Model  Ball Screw Lead
100 200 300 400 500 600 700 800 900 1000 1100
5 250 mm/sec
ESR 090 @15 10 500 mm/sec
20 1000 mm/sec

% (F) B7| Q| Stroke AF2A| HAIZ 29| HiZfLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
100W 200W
5 Horizonal 30 kg 30 kg
Vertica 22 kg 26 kg
Horizonal 12 kg 30 kg

ESR 090 @15 10 )

Vertica 8 kg 16 kg
2 Horizonal 4 kg 28 kg
Vertica 2 kg 8 kg

ESR Series _50

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



ESR 090-S

Direct Coupled

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100

Total Length 430 530 630 730 830 930 1030 1130 1230 1330 1430

A 65 115 105 95 85 85 65 115 105 95 85

B 240 240 360 480 600 720 840 840 960 1080 1200

N (EA) 2 2 3 4 5 6 7 7 8 9 10

Weight (kg) 43 53 6.3 73 8.3 9.3 10.3 1.3 12.3 13.3 14.3

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02
Mitsubishi HG-KR13 Mitsubishi HG-KR23

100W 200w
Yaskawa SGM7J-01 Yaskawa SGM7J-02
LS Mecapion FALO1A LS Mecapion FBLO2A

B External Dimension

160
4-M5x0.8 DP10 (60)__ 90 16 2-5 DP8
% DOWEL PIN HOLE
e LTl :
ke ) S e
T C - e—]
65 0 160 0 STROKE T48
— T I R 5
o g, D)2
i ° o o of
(90) 14 57 STROKE + 273 90
107 STROKE + 330 = TOTAL LENGTH
£-06 0P : OB ORs
DOWEL PIN HOLE (120) (REAR SDE)
[ 1
s G — - + % + ﬁtgl
B 4 < E + E S 3 ‘
A N X 120 PITCH M6x1 DP10

51 www.elpatec.com



ESR 090-B

Parallel Bottom

ELPATEC

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 403 503 603 703 803 903 1003 1103 1203 1303 1403
A 180 180 180 165 180 180 180 180 180 200 200
B 120 240 360 480 480 600 720 840 960 960 1080
N (EA) 1 2 3 4 4 5 6 7 8 8 9
Weight (kg) 4 53 6.6 7.9 9.2 10.5 1.8 13.1 14.4 15.7 17

¥ (F) B7| Q| Stroke AHEA| HAIZ 29| HiRLICE

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02
Mitsubishi HG-KR13 Mitsubishi HG-KR23

100W 200w
Yaskawa SGM7J-01 Yaskawa SGM7J-02
LS Mecapion FALO1A LS Mecapion FBLO2A

B External Dimension

150

160

4-M5x0,8 DP10 (60) 90 1 2-(5 DP8
5 DOWEL PIN HOLE
mr . et
~ . .
Jii sy now o —H
T C i —
55T 160 T STROKE T48 90
— T — "
o ) o C] o 'a\)r
IF - 85 "8
L 11 b )
92 J|f 40 STROKE + 263
108 STROKE + 303 = TOTAL LENGTH
4-(6 DP10 B (6.6 THRU
DOWEL PIN HOLE (120) C/B @1 DP3
(REAR SIDE)
[ 1
NS S Ey Y ;
s fil— E3 - 53 EI 8[
LE T b4 3 : ‘
A N X 120 PITCH M6x1 DP1O

ESR Series _52

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



ESR 090-L

Parallel Left

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 403 503 603 703 803 903 1003 1103 1203 1303 1403
A 140 140 120 120 120 120 100 140 140 140 120
B 120 240 360 480 600 720 840 840 960 1080 1200
N (EA) 1 2 3 4 5 6 7 7 8 9 10
Weight (kg) 4 53 6.6 79 9.2 10.5 1.8 13.1 14.4 15.7 17

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02
Mitsubishi HG-KR13 Mitsubishi HG-KR23

100W 200w
Yaskawa SGM7J-01 Yaskawa SGM7J-02
LS Mecapion FALO1A LS Mecapion FBLO2A
H External Dimension
— T“E“ -
45
sw08 pio /{01 90 10, ™ 2-5 0P8
o 160 DOWEL PIN HOLE
55 160 STROKE _\_48 90
\ I <] e o
202 ‘1 l 40 STROKE + 263
218 STROKE + 303 = TOTAL LENGTH
6.6 THRU
4-@6 DPI0 B
DOWEL PN HOLE (120) g&gggg
[ 1
o P Y Y |
> o o o < O
e %
IRk
- M6x1 DP10
o N X 120 PITCH

53 www.elpatec.com



ELPATEC
ESR 090-R

Parallel Right

m
r
(7))
»
m
Bl Dimensions Table (mm) E
(7]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 403 503 603 703 803 903 1003 1103 1203 1303 1403
A 140 140 120 120 120 120 100 140 140 140 120
B 120 240 360 480 600 720 840 840 960 1080 1200
N (EA) 1 2 3 4 5 6 7 7 8 9 10 g
Weight (kg) 4 5.3 6.6 79 9.2 10.5 1.8 13.1 14.4 157 17 o
X (F) B7| 2| Stroke AF2A| EAIZ 29| HiZfL|Ct m
]
m
(7]

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO1 / MSMFO1 Panasonic MSMDO02 / MSMF02
Mitsubishi HG-KR13 Mitsubishi HG-KR23

100W 200w
Yaskawa SGM7J-01 Yaskawa SGM7J-02
LS Mecapion FALO1A LS Mecapion FBLO2A

(2]
o
B External Dimension %
o
=
160 >
4-M5X08DPI0 | (60) 90 2-05 DP8 o |
T 5 DOWEL PIN HOLE S
QEE—— =
o ; EIﬂ
. st :T”L’.:'I:’
e
Y
55 160 STROKE 48 90 m
—_ 1 - >
= | ="
e o OR # 2
B il 1 ogf5! o o —
m
L o
6 202 40 STROKE + 263
—|_ 218 STROKE + 303 = TOTAL LENGTH
4-(@6 DP10
DOWEL PIN HOLE B
] (120) (6.6 THRU
3 C/B @11 DP3 =
tt f (REAR SIDE) m
- < ‘ )
- + + % §I 8[ m
- + + + : 2
T m
»
A N X 120 PITCH M6x1 DP10

ESR Series _54



55 www.elpatec.com



ELPATEC

B Performance Specifications

Model ESR 120
Motor (W) 200W ~ 400W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50~1100 50~1100
Repeatability (mm) +0,02 001 +0.02 001

LM Guide 2 Way 15W — 2 BLOCK
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc.

B Stroke By Max Speed

Stroke
Model  Ball Screw Lead
100 200 300 400 500 600 700 800 900 1000 1100
5 250 mm/sec
ESR 120 @15 10 500 mm/sec
20 1000 mm/sec

% (F) B7| Q| Stroke AF2A| HAIZ 29| HiZfLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
200W 400W
5 Horizonal 50 kg 50 kg
Vertica 50 kg 50 kg
Horizonal 50 kg 50 kg

ESR 120 @15 10 )

Vertica 22 kg 38 kg
” Horizonal 28 kg 45 kg
Vertica 10 kg 20 kg

ESR Series _56

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



ESR 120-S

Direct Coupled

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 422 522 622 722 822 922 1022 122 1222 1322 1422
A 10 110 10 10 10 10 110 10 10 10 110
B 200 300 400 500 600 700 800 900 1000 1100 1200
N (EA) 2 3 4 5 6 7 8 9 10 1 12
Weight (kg) 49 6.2 7.5 8.8 101 1.4 12.7 14 15.3 16.6 17.9

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200w 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

B External Dimension

4-M6x1 DPI5 165 2-06 DP8
g DOWEL PIN HOLE
oo o o obl S o e ooner 1]
o T
bl B ¢
@ rrrrrrrrrrr
535 163 STROKE 535 120
T T ) T
£ r—i— ! =
Wl ' )=
bardl [[. o] e o
5 STROKE + 270
STROKE + 322 = TOTAL LENGTH
4-05 DP8 B @45 THRU
DOWEL PIN HOLE (100) C/B ¢8 DP6
(REAR SIDE)
i TI—'- P
FHrE T T T OIO
Sy PR o
3 Y T T Py
A N X 100 PITCH M&x0.8 DP10

57 www.elpatec.com



ELPATEC
ESR 120-B

Parallel Bottom

m
r
(/)]
»
m
B Dimensions Table (mm) z
(7]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 395 495 595 695 795 895 995 1095 1195 1295 1395
A 200 200 200 200 200 200 200 200 200 200 200
B 100 200 300 400 500 600 700 800 900 1000 1100
N (EA) 1 2 3 4 5 6 7 8 9 10 11 g
Weight (kg) 6.5 78 9.1 10.4 1n7 13 143 15.6 16.9 1822 195 o
X (F) B7| 2| Stroke AF2A| EAIZ 29| HiZfL|Ct m
]
m
(7]

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200W 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

()
(@)
B External Dimension %
—
=
=
4-MBxi DP15 163 2-(96 DP8 o
14 DOWEL PIN HOLE
&QV .
N WT W T
s
rrrrrrrrr

385 163 STROKE 535 120 <
T (/)]

= T ()

] _';Il o

. N 3

o m

hes i@ (7]

122 1 40 STROKE + 255
138 | STROKE + 295 = TOTAL LENGTH
4-g5 DP8 B 045 THRU
DOWEL PIN HOLE (100) C/B @8 DP6
(REAR SIDE) =
RN < + + + m
Al T t OI o

I FE— =2 )

p p T T T m

2

N X 100 PITCH M5x0.8 DP10 m

ESR Series _58



ESR 120-L

Parallel Left

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100
Total Length 395 495 595 695 795 895 995 1095 1195 1295 1395
A 140 140 140 140 140 140 140 140 140 140 140
B 200 300 400 500 600 700 800 900 1000 1100 1200
N (EA) 3 3 4 5 6 7 8 9 10 1 12
Weight (kg) 6.5 78 9.1 10.4 1.7 13 14.3 15.6 16.9 18.2 19.5

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200w 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

B External Dimension

3
I
=—c= =] S oo ool T
8
4-MBx1 DP15 % 2-(6 DP8
DOWEL PIN HOLE
385 163 STROKE 535 120
T 1 _ T
! = U
1 8 LT
TLe o | ° ollalsy
232 6 ) STROKE + 255
248 STROKE + 295 = TOTAL LENGTH
4-g5 DP8 B @45 THRU
DOWEL PIN HOLE (100) C/B {8 DP6
(REAR SIDE)
& R f Y R
T T ol o
| N w0, o
T pe
e e
i I'L‘ M5x0.8 DP10
-
A N X 100 PITCH

59 www.elpatec.com



ESR 120-R

Parallel Right

ELPATEC

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100

Total Length 395 495 595 695 795 895 995 1095 1195 1295 1395

A 140 140 140 140 140 140 140 140 140 140 140

B 200 300 400 500 600 700 800 900 1000 1100 1200

N (EA) 3 3 4 5 6 7 8 9 10 1 12

Weight (kg) 6.5 78 9.1 10.4 1.7 13 14,3 15.6 16.9 18.2 19.5

¥ (F) B7| Q| Stroke AHEA| HAIZ 29| HiRLICE

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO02 / MSMF02 Panasonic MSMDO04 / MSMF04
Mitsubishi HG-KR23 Mitsubishi HG-KR43

200W 400W
Yaskawa SGM7J-02 Yaskawa SGM7J-04
LS Mecapion FBLO2A LS Mecapion FBLO4A

B External Dimension

120

163 2-036 DP8
4-Méx1 DP15
: r%( DOWEL PIN HOLE
————
8

oo s oo ——

ik

Ay

4

385 163 STROKE 535

1 | 1
T ;Ifﬁ + ;I
- T |
L 6 232 4 STROKE + 255
L 248 STROKE + 295 = TOTAL LENGTH
4-(35 DP8
DOWEL PIN HOLE
(100)
] @45 THRU

i C/B 38 DP6

I (REAR SIDE)
1+ 1+
T T OI o
4 4 i Bed

B3 kS g pS
A N X 100 PITCH M5x0.8 DP10

ESR Series _60

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



2] 1 [V ) series

ESR 160-S

Direct Coupled

ESR 160-B

Parallel Bottom

ESR 160-L

Parallel Left

ESR 160-R

Parallel Right

61 www.elpatec.com



ELPATEC

B Performance Specifications

Model ESR 160
Motor (W) 400 W ~ 700 W
Ball Screw Lead 5 | 10 20 5 | 10 20
Stroke (mm) 50 ~ 1100 50 ~ 1100
Repeatability (mm) + 0,02 £ 001 + 0,02 00
LM Guide 2 Way 20W — 2 BLOCK
Body Color Black or White
Accessory Cable, Vayor, Bracket & Driver, etc,

H Stroke By Max Speed

Model  Ball Screw Lead Stroke
100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
5 250 mm/sec
ESR 160 @20 10 500 mm/sec
20 1000 mm/sec

% (F) B7| Q| Stroke AF2A| HAIZ 29| HiZfLICH

Bl Max Payload

Motor Output

Model Ball Screw  Lead Mount
400W 700W
5 Horizonal 100 kg 100 kg
Vertica 60 kg 60 kg
Horizonal 80 kg 80 kg

ESR 160 @20 10 )

Vertica 40 kg 45 kg
2 Horizonal 35 kg 70 kg
Vertica 20 kg 30 kg

ESR Series _62

s3as g3

s3¥3s Y93

s3as GA NOILLVNIEGINOD

s3as gl



ESR 160-S

Direct Coupled

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
Total Length 445 545 645 745 845 945 1045 1145 1245 1345 1445 1545 1645 1745 1845
A 70 70 100 100 80 80 80 70 100 100 100 100 100 80 70
B 240 360 360 480 600 720 840 960 960 1080 1200 1320 1440 1560 1680
N (EA) 2 3 3 4 5 6 7 8 8 9 10 1 12 13 14
Weight (kg) 101 124 147 17 193 216 239 262 285 308 331 354 377 40 423

% (F) E7| 2 Stroke AFA| HAIZ 29| i Ct,

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08
Mitsubishi HG-KR43 Mitsubishi HG-KR73

400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08
LS Mecapion FBLO4A LS Mecapion FCLO8A

B External Dimension

4-M8x1.25 DP16 170 2-(36 DP8
140 DOWEL PIN HOLE
% 3 TR .
g I
= R
K3 = <2l 3
62 170 STROKE 48
T
fahr
B4 . - H
85 STROKE + 280
STROKE + 345 = TOTAL LENGTH
4-(38 DP10 B 6.6 THRU
DOWEL PIN HOLE (120) C/B @1 DPS
(REAR SIDE)
[ 1
Foo : b 1 i z
ikii kY " " N ol s
bAES e . e . S =
- Ed - - +
s + + -
A N X 120 PITCH M6x1 DP12

106

63 www.elpatec.com



ELPATEC
ESR 160-B

Parallel Bottom

m
r
(7]
[71]
m
B Dimensions Table (mm) z
(7]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
Total Length 430 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830
A 220 220 220 240 220 220 220 220 220 240 240 220 220 220 220
B 120 240 360 360 480 600 720 840 960 960 1080 1200 1320 1440 1560
N (EA) 1 2 3 3 4 5 6 7 8 8 9 10 11 12 13 g
Weight (kg) 122 145 168 191 214 237 26 283 30.6 329 352 375 398 421 444 =
% (F) B7| 9 Stroke AFZA| ZAIZ 29| HEZLIC m
=
m
(7]

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08
Mitsubishi HG-KR43 Mitsubishi HG-KR73

400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08
LS Mecapion FBLO4A LS Mecapion FCLO8A

(o)
(@)
B External Dimension %
—
=
4-MBx1.25 DP16 70 2-6 DP8 =i
10 DOWEL PIN HOLE (@)
=
RS 28 ] NN
‘O'L
— o - el 3
g2 170 STROKE 48 160 <
i — 7T T @
EI_E;E U < %
: = NEEN 3
= Gl .
= 4 B,
164 145 50 STROKE + 280
1785 | STROKE + 330 = TOTAL LENGTH
4-g8 DP10 8 066 THRU
DOWEL PIN HOLE {120] (C/B o DP)G
REAR SIDE
I 1 g
] + & + - m
TE e 4 + + £
M-S o o o gl (7]
= ﬂuu‘ + - < = g - m
1 s - - - E)
m
A N X 120 PITCH M6xi DP12 (7))

ESR Series _64



ESR 160-L

Parallel Left

Bl Dimensions Table (mm)
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
Total Length 430 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830
A 120 100 100 140 140 140 120 120 100 140 120 120 120 100 100
B 240 360 480 480 600 720 840 960 1080 1080 1200 1320 1440 1560 1680
N (EA) 2 3 4 4 5 6 7 8 9 9 10 1 12 13 14
Weight (kg) 122 145 168 191 214 237 26 283 306 329 352 375 398 421 444

(F) ®7| Q| Stroke AF2A| HAIZ 29| HiZfL|CE

H Motor Capacity

w Maker Model w Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08
Mitsubishi HG-KR43 Mitsubishi HG-KR73

400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08
LS Mecapion FBLO4A LS Mecapion FCLO8A

B External Dimension

. i
]
=
s <3 T T
<
140
4-M8x1.25 DP16 170 2-36 DP8
DOWEL PIN HOLE
B2 170 STROKE 48
T T T
«f ! ;I
A . -E
294 14‘5 50, STROKE + 280
3085 | STROKE + 330 = TOTAL LENGTH
4-@8 DP10 B 6.6 THRU
DOWEL PIN HOLE (120 C/B @11 DP6
(REAR SIDE)
I 1
b : : b b
RN o o 6 g
- 5 5 - T
- . . .
B
Lo M6x1 DP12
-
A N X 120 PITCH

65 www.elpatec.com



ELPATEC
ESR 160-R

Parallel Right

m
r
(7]
[71]
3
B Dimensions Table (mm) =
(7]
Stroke 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
Total Length 430 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830
A 120 100 100 140 140 140 120 120 100 140 120 120 120 100 100
B 240 360 480 480 600 720 840 960 1080 1080 1200 1320 1440 1560 1680
N (EA) 2 3 4 4 5 6 7 8 9 9 10 1 12 13 14 g
Weight (kg) 122 145 168 191 214 237 26 283 306 329 352 375 398 421 444 =
% () B7| 9 Stroke ARAl YAZ 29| BrELICH @
2
m
(7]

B Motor Capacity

W Maker Model W Maker Model
Panasonic MSMDO04 / MSMF04 Panasonic MSMDO08 / MSMFO08
Mitsubishi HG-KR43 Mitsubishi HG-KR73

400W 750W
Yaskawa SGM7J-04 Yaskawa SGM7J-08
LS Mecapion FBLO4A LS Mecapion FCLO8A

(o]
(@)
B External Dimension %
=
=
4-MBx1.25 DP16 170 2-(6 DP8 EI
140 DOWEL PIN HOLE =
(@)
— = e =z
<
e %] R T
T S
i
‘ <
62 170 STROKE 43 160 (7))
T ] ; @
T i i B ] 3
: T :
145 294 50 STROKE + 280 L
T 3085 STROKE + 330 = TOTAL LENGTH
4-gi8 DPI0
DOWEL PIN HOLE 8
- (120) 366 THRU
= C/B @11 DP6
i
“ (REAR SDE) =
(/)]
b i : b 7 »
% - 6 ¢ g 8 m
ii - - id T - E
© + - + =
L (7]
A N X 120 PITCH Méxt DP12

ESR Series _66



67 www.elpatec.com



ELPATEC

o L BN Type

ELS Series :
X2-Y-WD Type R
Wall Mount Type g
X2-Y-HD Type %
Horizontal Type %

g
X1-Y-WT Type :

Wall Mount Type

s3as gA

X1-Y-HT Type

Horizontal Type

s3as gl

Combination _68



Combination ' l&
ECR, ESR Series

X2-Y-WD Type

Wall Mount Type

X2-Y-HD Type

Horizontal Type

X1-Y-WT Type

Wall Mount Type

X1-Y-HT Type

Horizontal Type

69 www.elpatec.com




ELPATEC

o L BN Type
Module Bracket

s3¥3s Y93 s3u3s g3

s3¥3s Yg3

)
o
=
=
=
=
o
=

s3as gA

s3as gl

Combination _70



VERTICAL Z-AXIS VS -120 T - B
B B8
. | Table Size (nm) 100 x 80 : 080
serles 120 x 120 © 120
B Motor Type Stepping Motor : T
Servo Motor @ S
n Body Color Black ' B
White W

B Specifications

Model VS 080 VS 120
Table Size 100 x 80 mm 120 x 120 mm
Motion Range + 25 mm + 5 mm
Load Capacity 12 kg 20 kg
Maximum Speed Ball Screw @6 Lead 1 Ball Screw (@8 Lead 1
Ballscrew Lead 5 mm/sec
Accuracy 0.005 mm
Uni—Repeatability + 0.001 mm
Bi—Repeatability + 0.002 mm
Parallelism 0.010 mm
Motor Stepping Motor, Servo Motor
Body Color Black, White
Material Aluminum, S45C
Guide Mechanism Cross—Roller Guide
Weight 25 kg 4 kg

71 www.elpatec.com



ELPATEC

B External Dimension - VS 080

4-M3x0,5 THRU
2-(34 H7 DP6 50 4-M4x0.7 THRU

4-M5x0.8 THRU
L
° \ &
o I &
(.
T ol | [‘e|
|:|Et [ S P A SIS
®, ‘ . ©
s |
©
%
50
7
| 80 100
==
[
Ca o © <5
) o ﬂﬁi
4-g45 THRU @ n% 0l 58
(4 BOLT) P siisay bt ° R — 2
T @l U [OFOT — Ty o O
70 70
25
H External Dimension - VS 120
4-Max0.7 THRU
2-@4 H7 DP6 85 4-M5x0.8 THRU
4-MBxi THRU
‘
o \ &
o I &1
o’ | [e
|:|3: o |- 88
@, ‘ . ©
K3 |
© ‘
50
7
100
120 | 120 ‘
=
[
& ad S
0 o) @ i’lg
4-(36.6 THRU @ 85
(M6 BOLT) ™ H B O I — 2
de T 8. & B e [T T
100 100 15
121 235

VS Series _72



Model
Table Size
Motion Range
Load Capacity
Maximum Speed
Ball Screw Lead
Accuracy
Uni—Repeatability
Bi—Repeatability
Parallelism
Motor
Body Color
Material
Guide Mechanism
Weight

73 www.elpatec.com

MS 080
80 x 80 mm
+ 15 mm
14 kg

2.5 kg

MS-120T - B

Table Size (mm) 100 x 80

Motor Type

Body Color

Ball Screw (8 Lead 1

20 mm/sec

0.005 mm
+ 0.001 mm
+ 0.002 mm

0.010 mm

Stepping Motor, Servo Motor
Black, White
Aluminum, S45C
Cross—Roller Guide

120 x 120

Stepping Motor :

Servo Motor

Black
White

MS 120
120 x 120 mm
+ 35 mm
17 kg

4 kg

1 080
1120

vs)



ELPATEC

8-M4x0.7 DP8

80

M

a70

100
90

Motion Range)

(

195

80

70
50

4-M5x0.8 DP8

12-M4x0.7 DP8

120

90+35
(Motion Range)

)

195

120

MS Series _74



DESKTOP STAGE

ETS

Series

(0)
o

ETS - 40 40 10
L1 2 3

oo
-]}

n X Axis Stroke Length (mm) 200 : 20 n Driving S : AC Servo Motor + Ball
300 : 30 Screw
400 : 40 B : Step Motor + Belt
n Y Axis Stroke Length (mm) 200 : 20 a Color B : Black
300 : 30 W @ White
400 : 40

|| Z Axis Stroke Length (mm) 50 : 05 | Options
100 : 10

75 www.elpatec.com



ELPATEC

B Specifications

ETS-202005 ETS-303010 ETS-404010
Model
B S B S B
X, Y Axes (mm) 200 300 400
Range
Z Axis (mm) 50 100 100
Evlioad Y Axis (kg)  [Work] 5 20 15 20 15
(Maximum) Z Axis (kg) [Tool] 2 7 7 7 7
Velocity X, Y Axes (mm/sec) 500 1000 500 1000 500
(Maximum) Z Axis (mm/sec) 100 250 100 250 100
. X, Y Axes (mm) + 0.01 + 0.005 + 0.01 + 0.005 + 0.01
Repeatability
Z Axis (mm) + 0.01 + 0.005 + 0.005 / £ 0.01 + 0.005 + 0.005 / £+ 0.01
) X, Y Axes Step Motor AC Servo Step Motor & Belt AC Servo Step Motor & Belt
Drive
Z Axis & Belt & Ball Screw  ervo / Step & Ball Screw & Ball Screw  geryo / Step & Ball Screw
Dimension W X D X H (mm) 320 X 320 X 400 520 X 530 X 550 470 X 480X 520 700 X 750 X 768 700 X 742 X 718

ETS Series _76



Model
Axis
Travel Range
Load Capacity

Moving Table Mass

Guide System
Motor System
Velocity
Acceleration
Accuracy
Repeatability
Straightness
Flatness
Orthogonality
Pitch

Yaw

Weight

77 www.elpatec.com

EPCS 250
X=Y
250 x 250 mm
10 kg
Upper
Lower
85 kg

EPCS - 250

X=Y Stroke (mm) 250 1 250
300 - 300

EPCS 300
X=Y
300 x 300 mm
15 kg
10 kg
16 kg

Cross—Roller Guide
Coreless Linear Motor

500 mm/sec

05G

10 um

1 um

+ 5 um

+ 5 um
10 arc—sec
10 arc—sec
10 arc—sec

95 kg



ELPATEC

400
320
10-M6x1 DP12 160 160
|
e . 3 A
fl !
oY -] ] (<]
o 0 °
2-J6H7 DP8 o ©
DOWEL PIN HOLE : o o
o
g o °
ol A °
g4 o o o
;% ° ) X '
8 ’ . ,
O @
° | — °
o ° ® o
L -E“L > -
A B
o | ko EIHm B : ==——
. 8' S _©o Mo ry r ) ) S o o 5
500
250 | 250 6-@9 THRU
- | —~ " C/BEIDPTS
L (REAR SIDE)
o o
g
_2-()8HTDP8
- oo ° ° DOWEL PIN HOLE
S & o
=
o
<
o o
g J

EPCS Series _78



WAFER TRANSFER ROBOT

DWR

Series

n Arm Type Single S

Double : D

n Wafer Size (mm) 300 1 0300
400 1 0400
500 1 0500

79 www.elpatec.com



ELPATEC

B DWR Series

m

-|

(7]

(72

.0 m

z

_.-@ o
BE X0 .
2E ATH7} ZEE : :

AIC HEZE = . -

DWR -

- ")

Series 0

(7/]

Twin Arm {822 500mm 27|2| 2

(7]

78 A AZEHE ®, @ Holm x| 2| Its

SXt 7ta4 Moz
dlojmE 1,
DHUCE gt

m
(7
>
)
m
=
m
]

saas pMAN

NOISIO3dd

DWR Series _80



DWR Series

0300

B Specifications

Robot Series DWR 0300
Object Spec 300 mm
Controlled Axis 3 Axis
Arm Type Double
R—Axis 587 mm
Motion Range T—-Axis 330 deg
Z-Axis 300 mm
R—-AXxis 800 mm/s
Max Speed T—Axis 360 deg/s
Z—-Axis 500 mm/s
R—-Axis 100 W
Motor Spec T—Axis 200 W
Z—-Axis 400 W
Repeatability +0.1 mm

81 www.elpatec.com



ELPATEC
DWR Series

0400, 0500

m
-]
/)]
m
=
Robot Series DWR 0400 DWR 0500 -
Object Spec 400 mm 500 mm
Controlled Axis 3 Axis
Arm Type Double
R-Axis 587 mm m
Motion Range T—Axis 330 deg (o]
Z-Axis 300 mm »
R-Axis 800 mm/s %
Max Speed T-Axis 360 deg/s E
Z—-Axis 500 mm/s =
R—-Axis 100 W
Motor Spec T—Axis 200 W
Z—-Axis 400 W
Repeatability +0.1 mm

CENELRVL

saas pAN

NOISIO3dd

DWR Series _82



SCARA ROBOT

ESA

Series

ESA - 0300 - 100
El B

~ | Am Size (mm) 300 : 0300
600 1 0600

n Z—Axis Stroke (mm) 100 1 100
200 : 200
300 : 300

83 www.elpatec.com



ELPATEC

2ZE =0

(o]
EE oAFAH7} EtEtE Arm2|

[ =R R

A/C NEREH HE Hs MBS

ESA
Series

H40t a3t 1x2 A

ESA Series _84



ESA Series

0300

B Specifications

Robot Series ESA 0300
Arm Size 300 mm
J1—Axis I=158
. J2—-Axis +145°
Motion Range .
T—Axis +360
Z—Axis 100 ~ 300 mm
J1, J2—Axis 3560 mm/s
Max Speed T-Axis 1600 7s
Z-Axis 2000 mm/s
J1—Axis 400 W
J2—Axis 200 W
Motor Spec
T-Axis 100 W
Z—Axis 200 W

85 www.elpatec.com



ELPATEC
ESA Series

0400, 0600

B Specifications

Robot Series ESA 0600
Arm Size 600 mm
J1—Axis =l 55
. J2—Axis +145°
Motion Range .
T—Axis +360
Z—-Axis 100 ~ 300 mm
J1, J2—Axis 3560 mm/s
Max Speed T—Axis 1600 7s
Z—Axis 2000 mm/s
J1—Axis 400 W
J2—Axis 200 W
Motor Spec
T—Axis 100 W
Z—-Axis 200 W

ESA Series _86



ALIGNMENT STAGE

B Specifications

UVW

Series

UVW -

020
o]

n Table Size (mm)

200 x 200 : 020

350 x 350 : 035
500 x 500  : 050
1000 x 1000 : 100

Robot Series UVW 020 UVW 035 UVW 050 Uvw 100
Table Size 200 X 200 mm 350 X 350 mm 500 X 500 mm 1000 X 1000 mm
Base Size 350 X 350 mm 450 X 450 mm 600 X 600 mm 1200 X 1200 mm
Stroke +5 X +5 X £3° +5 X +5 X £3° +15 X +15 X +3° +15 X +15 X +3°
Repetition Accuracy +3 +3 +3 +3
Payload 60 kg 60 kg 100 kg 300 kg
Motor 50 W 100 W 200 W 400 W

87 www.elpatec.com



ELPATEC

B External Dimension - UVW 100

380 380 380

" + + AR %)
ar —
He ® © \og 12-n14 THRU
& C/Bn200P10
N .
g ® e 8
g | 0600 ,
3
o ok 3
T 2
e Es S

2-n10H7 DP10

+ 3
DOWEL PIN HOLE
- |

UVW Series _88



Model
Axis
Stroke X=Y (Gantry)
Load Capacity X=Y (Gantry)
Guide System
Motor System
Velocity
Accuracy
Acceleration
Repeatability
Straightness
Flatness
Pitch
Yaw
Material

89 www.elpatec.com

EGS 18T15 EGS 19T22
X=-Y-Z X=Y-Z
Gen 6M|CH [LCD & OLED] Gen 7M|CH [LCD & OLED]
50 kg 65 kg

LM Guide
Linear Motor
Max. 1500 mm/sec

+5 um
1G
+ 3 um
10 um (Full Stroke)
10 um (Full Stroke)
+ 15 arc—sec

I+ |

+ 5 arc—sec
Aluminum

EGS 20T23
X-Y-Z
Gen 8A|CH [LCD & OLED]
75 kg



Model
Axis
Stroke
Load Capacity
Guide System
Motor System
Velocity
Accuracy
Acceleration
Repeatability
Straightness
Flatness
Pitch
Yaw
Material

ELPATEC

X=Y (Gantry)
X=Y (Gantry)

EHS 18T15
X=Y-Z
Gen 6MITH [LCD & OLED]
40 kg

EHS 19T22
X=Y-Z

Gen 7M|C [LCD & OLED]

50 kg
LM Guide
Linear Motor
Max, 1500 mm/sec
+10 um
08 G
+ 3 um
15 um (Full Stroke)
15 um (Full Stroke)
+ 15 arc—sec

H |+

+ 5 arc—sec
Aluminum

EHS 20723
X=Y-Z

Gen 8M|CH [LCD & OLED]

65 kg

Precision Stage 90



91 www.elpatec.com



ELPATEC

HEA _92



RES| AISHOE ‘OXN0 FOIE BE 4S5 3 Bl2A A8 FHAR
ool oA MBS st BIZA| ISt mol YDt DA nletol WISk YBULICE J17lel MY U Haol
AOIME BEE AT S 1R At HIEA] HIHYNE AHE| 455t 5 AR FAAL
B Of2f2| EL0] AESHA| DMYAIL.
1. 913 % ARlo| RX|, B2 SO BAE 27|17
2. MEO| 0I5, B82S Yt 717
3. 7IE Q1o Y F= YA
X HIEA|l ®MF2 AHL| oA AlE3HAlL,
X Mol 2tet Zelof ANM= SAtoll Z2f HFEfLICE
1. WEE, 0512, ZUS So| YHS0| Y FAUME ABHHA| OHIAR
2 MES UAE Gol= YEA HAS 9K Y DHEHO FHAR,
3. MES &7, 71871 50| U= BAUME ABSHR| OHIAIS.
4 B4 WX, HH S AAHO| OO 7t HAIE PP MRS O, ARAL S0| LMEHX =2 XS A
TN,
5. Mol ©7/2 BFsb| M U 2 Mol EA| 717]0] B welo| ok Holg HFMAlR
RES & 2 ol B4 HU0| 5= B2 HEs FUAL
7. ME MRIM Olfol £2HS BESHE BHS TS0 FHAR
- EARgNOl BRI Bt R - 2 SR0IM ZAHO| 717 ZH0f DIXIX] % X
- M 22 0T ~ 40T - &5 85% 0[5, A2J} 92 A
- BAN A, JH THATH YIS % - BiX|, 427], B471% S0l BA| %2 X
- QUjAE, HA0| 2X| Y2 A ~ Bt XML, KfQIM, YAMMO| gig A
1 MBS AT Gol= Tl mat B, B0, oXE S8 FBI0] XS HESHIAL,
2 MBO| RWF £E HSIHs AEjoME 712 Sl B25HK 0tyAlR
3. HTAOIE N HYS KTt FAAR, HX BRA| HA} UAP| SR B4, HE 120l §0l0] HLct
4 Aol20l BXS UL Ralsl B8, 22, Y S0l AR %2 2T Hols XD ME BYoR et UM,
014 &5 So| #lo| ELict
5. HiE 912 22l 2218 S2A7L HEQ YRRl 7120l 221 9] DHRIAIL,
6. M 2% JIAHLl HOHSS ABHA ZH XS soiMs Hof ot=ini, Lol 0S80l BYUH HF ntaol
2ol0| El02 Mo RSN,
7. MEOIM AS, HA, 2, 2ol0] US Hols FA| HYUS HEUAL
8 MZ2 QAN 5183 S5t U A& 04O TS soIME OtEiDl, TRslet 2 ATk HEO O U £F HE0|
xEol 2ol0] Bt

93 www.elpatec.com



ELPATEC

2t 3 0|5 i

1. 2 HE2 1402 2Msl= HUSH MB0|22 Rbtst= 2PHol 20| 7kHXIX] Z=& Hof Fof Highuch

2, 28t Al 5240| U Z2 HMIol 240 YME 4 lon, £35| Servo Motor7t 2L US AL R0 FZ0|
A2 ARL0|= Servo Motor Encoder 2 Encoder CoverQ| m&0| Qg 4 ooz E3| Fo| HifLC},

3. 2 ME2 287t dR0|5C2 =0 JAes2 HZ HHIL 0P| AXL, 7122 SN2t 2HE 2 HH| &42
US 5 A2BZ FFo| Fo HFZLICH

4, BAR HE2 2t Al =R Xested Hatoles Yol Y=E F9| HiZLC

5 2t % 0| Al Roboto| End CoverLt Cableg HCf FX| OMYAIR, 2t Aoz 4 +EHE |Xlote FHAR

6. Z72| 0|5 Aol £TS QX|5H AEHOA Robote] 2|2t Slider7t 2ZI0/X| YZE X & & 0|61 FAAL

1.

L2 HES AR

Robote] B2 % AR HZS 20| A7 BESE 20| Hojo FLICE
— AlLHo| RIAMZMO| X U=
- oo oY EHUCRRE 2
- =9 2L 0T ~ 40T

- &EE 85% 0|5t 0[0{of 5, 0|Z0| WalX| Y= X
- HAIM GAS 2 719N GASTt gl R

— Z9l0f kol 2FI0| AEHR| ot R

Hxfloll ZAH0l 2 x| ¢d= R

- 0.3GE€ zufste TS0| MR = X
- et Xj&, TAm, Xel M, AMI0| glE R
. Robot?] E@st= 1Yo HE 12 S2iAU B242 =S st ot f&o] ALl 520| 7IiXIX] H=E

OISt FFAI7| HIELC

. Robots 2#te ZR0|= BOX ZHE ot0f 2H 0|5tz =T BOXQ| st HO| HHHX| R=F +F HIE0| M50 FA7]
HEZfLICh.
. ZA2| Robot2 0| L=

o Ao H
=
0%
2
II
05
gk
4>
30
o> %
C
Iul

HMxioll cieh EXQ ZHof Bet E=2 AlR0] O|R0IM UK HELct 2ot Y 717|242
Midet Fo7t |le® Mg 3ol E
Bl % ZHoZHE Robot
UL

. LM Guide & Ball Screw0il= J2|A7} =EE0] ALt F7[ZH Bt Al BA & = S0 & & 4+ ASUCL

mEL MY, 22

1.

HMZ2 Eoil =SR] ordAlL.

2. B4, Y, #2l Al HEA] THEE XS £ THSH FHAL.

m 7|

HES 7| dR0lls MEHIIZ2M S0t FHAIL.




95 www.elpatec.com



ELPATEC

96



97 www.elpatec.com



